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DO x®-x-6=(x-3)(x+2)

@ x-4=(x+2)(x-2)

@ - -2x=x(x+1)(x-2)
@ 18x% —2x = 2x(3x— 1) (3x + 1)

® 3x2+6x+3=0Bx+1)(x+2)



=9

Z 3x%y + 6xy 9] AP=T

® @ 3(x+2) © 2

@ xy+2 ® 3x2



3. 4a® —12ab + 9p? & QA4ES| 5HH?

® (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+ b)(4a - 9b) @ (2a-3b)?

® (4a + b)(a + 9b)



4.

o}

O =
= &

2+ Tay + 10y 9] 1545 BE T2 270)

© x+y @ x+2 ® x+5y

@ x-2y ® x-5y



5. (a+3b)(2a—1)& AL W, ab 9] ASE F5teizt,

SR
-
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D 2x+1 @ 3x+5

® 5x+10 @ 6x+6

® 6x4+ 20




Sl ZA-S o] 85to] 132 - 122 = 13 + 12 & AAtstgt}. o] of,

@ a® + 2ab + b* = (a + b)?
@ a® -2ab+b* = (a—b)?
® a®-b2=(a+b)(a-b)
@ x*+(a+b)x+ab=(x+a)(x+b)

® acx® + (ad + bc)x + bd = (ax + b)(cx + d)



8. a-b=2V3L W, a®+5b*>-2ab-3(a—b)-12 2] G2

D -6V3 @ 1-643 ® 2-6V3
@ 3-63 B 4-63
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10. 3x2+7x-6= (x+3)(3x +|

) elA |

@D -2 @ 2 3 3



11. g % Q5Barhvres) | AL

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
® —x2+1=(x+1)(-x-1)
@ x2-Tx+12= (x-2)(x—6)

® 10x% 4+ 23x - 21 = (x4 3)(10x = 7)



12. o& 5 x-3 5 d5=E 2= oda2?

@O x2-2x-8 @ x2-2x-3 ® x®+3x+2

@ x2-x-2 ® x2-3x+2



13. t5 F Aol @A S

@ x2-x-12 © 2x*-5x-12
@ x+3 @ x-3 ® 2x+3
@ 2x-3 B x—4




14.

WolZk 10x% + 17x + 3 &1 ZAH2 Y
ALzt o] 7k 0] Zlo|E ot

@D 2x+5
@ 5x-3

@ 5x+3
B 2x-5

4 A= o] Zol7F 5x+1 & o,

® 2x+3

o]



15. o2 5 27ax? - 12ay* & B2 ASFE3| oF 227

@D (3ax - 3y)? @ 3%(3ax - 4ay)?
® 3a(3%ax — 4ay)? @ 3a(3x+ 2y)(3x —2y)

® 3(9ax? - 4ay?)



16. x?-49+14y—y? ol xS AL71A F L
o), 5 Qapale] e Pt

D 2(x-y) @ y+14

@ 2x-2y-7 ® x-—y+2



302-a®>=b

28 % (30+a)

® 892 B 894 @ 896 B 898

@D 890



18. oA ax® —19x+b 7} (x=5) & (3x—4) E A2 /M W, a4 b
o] k& ool

B Eatb=



19.

ab+5a-3b-23 =0 &
(F,a>0,b>0)

DO ERE

& a.b 9 #Z Fshoizh



x+1)(x+3)(x+5)(x+7)—

p7t

SARBAe] HEE sh

@ 8 B 12



21.

FPAH Y 94H°l7}x2+4x—y2—4y o]
off, o] HaYAPHT 9] Fol & 5HH?
® x+y-4 @ x-2y+4
@ x+vy+4 ® x+4y+2



22. 9Wo] st2et M2t 47 x +y, 2x 4+ 1 9 FEHA Q] F o}
2x3 4+ 2x%y + Tx* + Txy + 3x + 3y o|th. AHHA Y g BA 2]
4ol & stoiet.
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24. 16x'-81y* = (Ax*+By?)(Cx+Dy)(Ex+Fy) 2tal & o, A+ B+C+
D+ E+F O] 3t& Fotolet. (& A, B, C, D, E, F = 5°lt})

e =
-






